/ARG
EHERFE X ETAY
fHE) |18 BRI
LA RASIRR
J-=>4 & IR
Y — 1 ¢
BAHER

LE | AR RBIRIAIR - BITR AR — R

FREFR

FERST

BHEFOSERE
HFERZRRCO) <

3,145.000

A

HEH FEESS 3] SRR

07H21H V’l4ﬂ§00§ﬁﬁﬁ£ v | HEE

LESHES LEESHE (TR
Z20) DIEEME

o5
ity R 133.000
I L& 9.000
FE & @ 13.000
Bl &5F @ 16.000
e it 3.000
FRE VBT @ 6.000
P AT @ 3.000
BR EURD @ 0.000
RiE E0 1.000
ANUE BT 3.000
#A 505 (37 1.000
H5 BE @ 0.000
F HOF @ 8.000

L ORVT 0.000

HE/TEEREEN HEXR

63,090\ 100.0%

[SEREIOZEE S oo
(HEREZSD) <

3,145.000

XEAT—HR

st

LEERE (FER
8O BRI &

214.000

hXEHEE

&t

A
v

3,359.000



R BHEOSERE LEEHEL LEERE (FER
2 ¢ (FERER) 2 EESE) DEZHRE BREDSEEE 2EEEHE (IFER ast
7 A FFERZED) < ZBR) OBERE ¢ <
mE N 0.000
A BA @ 1.000
s HE @ 2.000
KE WEF @ 4.000
WE &0 @ 11.000
BAHEIOS 3,586.000 A Hi mETF (i) 69.000 3,586.000 297.000 3,883.000
LR 15 40.000
PRIE B 11.000
O HooE 17.000
7hI% R 7.000
BH #CH @ 49.000
HE THhE 24.000
2R BX 25.000
A ¥ (%) 22.000
MR 0% 2.000
BE U305 16.000
BOED 18 (37 12.000
AL LESZL 3.000
HrEES 397.000 A %7 OnR= 44.000 397.000 61.000 458.000

B BEC @ 17.000



e

7

BARTR

<t
it

ok

BHREOSERIL
(FERZRO) <

1,939.000

5,988.306

A

A

BH

(=

HEIR

JEAt

alll

R

NN

LEEHES

A

&

MUz

iB5

A3

55 \EpB

Zed

FSOL

5 ol

BEF

F FEC

ARAY

EBLL

FH

EH

FaEF

1E3A

D>

EES

HF

el

B UAKA

R&

TR B

=0

Bh=

LEEHE (FER
ZE20) OISR

98.000

@ 115.000
11.000
986.000
69.000
3.000
4.000
62.000
2.000
45.000
52.422

3.000

® e

43.000
1.000

1.000

@ 0.000
80.000

4.000

7.000

@ 3.000

BHEFOSERI
IFERZED) <

1,939.000

5,988.306

LEEHE (FEn
ZhR) DEERE ¢

1,210.000

911.422

&t

A
v

3,149.000

6,899.728



e
7

W
&
ok

EREER

®

BHREOSERIL
(FERZRO) <

7,387.000

7,142.693

A

A

LEEHES

HIBH E—

&R W32

O ehU

EITA1)

NaE> &fh

2 AT

»rs w30

HAES 1

B FR

B HIEF

NI #8—EB

®EE AKX

iR hdr

Fa HI03

MHE #

e 2R

I RS2

HHFE EXR

WeeE B

R 1206

® e

s s B R

LEEHE (FER
ZE20) OISR
65.000
33.000
59.000
60.000
311.000
4.000
163.636
170.000
47.000
227.000
11.000
21.000
14.000
17.000
75.000
23.000
93.363
12.000
530.000

129.000

BHEFOSERI
IFERZED) <

7,387.000

7,142.693

LEEHE (FEn

ZBR<) @

2 TS YN
BER ¢

768.636

1,290.237

&t

8,155.636

8,432.930



e
7

F—=LdH50)

BAHER

Alh b N )\ K
TTEDSERIR

(FERZRO) <

1,544.000

199.000

LEEHES

A& Wb

A USF

BED hE

N #0%

1))

EAR LU

A TR

HE B»5&

B EH

RE LUsH

FFE K

BH LAZ

=ZA BLD

FEIF H54

WHE 3>k3

ZE hU3

Bl seU

Al ZL\e35

S LLhE

KIR <[

OO0 6

® e

LEEHE (FER
ZE20) OISR
15.000
7.000
14.000
0.000
12.000
5.208
53.000
5.000
204.000
53.000
64.000
2.666
2.000
15.000
74.000
213.000
6.000
2.000
196.000

3.000

HEDSRMIR
IFERZED) <

1,544.000

199.000

LEEHE (FEn

==Y
B <

221.000

199.000

&t

1,765.000

398.000



e
A
v

HERER

nuhImEE

BARER

Slz=l=E=Sn

®

BHREOSERIL
(FERZRO) <

1,297.000

4,499.000

84.000

9,427.000

A

A

A

AN

LEEHES

A& WD3T
Y- BaH
M IEER
sk 030
fEm LT3

=

&t

REAIR
A =F

BHE AHd&

18l #03%

A 503

([CEBN E3F

MR s

HH =68
FIVF &

&I 301

FEA FRSR
IHALYRINT B
OEh =a

fic
EZ)

os

=N
F/

Kkt

i

E
<

®

LEEHE (FER

ZE20) DR

46.000

209.000

6.000

12.000

11.000

16.000

129.000

14.000

9.000

12.000

14.000

6.000

10.000

21.000

27.000

16.000

16.000

19.000

2.000

3.000

BHEFOSERI
IFERZED) <

1,297.000

4,515.000

84.000

9,432.000

LEEHE (FEn
ZhR) DEERE ¢

284.000

274.000

19.000

2,232.577

&t
A
v

1,581.000

4,789.000

103.000

11,664.577



(ﬁm’f"’iﬂfﬁo

LEEHES

™l FSHE

HEBE LLST

FIEE U

B BF

Al FEU3

WAES EE

hEP5 EU

F 030F

(FASH TXEE

ik T

=1

e F20T

= BF

LiFbt 6%

PHE HH

AR =B

B &L

il Jqvda

o

i

RE kHU

e 66 o

® ©6

® 00

LEEHE (FER

ZE20) OISR

114.000

16.000

84.000

101.000

52.000

148.000

121.000

74577

57.000

33.000

22.000

129.000

116.000

11.000

90.000

54.000

52.000

28.000

55.000

30.000

BHEFOSERI

(FERZZD)

A
v

LEEHE (FEn

ZBR<) @

==
5=

e <

ANE
[=]=]

.l.



k& BREOEERE LEEHEL LEEHE (IFER
a v (BERERO) 2 EESD) DEERE KR EDSTRE LEEHE (FEn &st
e (FERZED) < ZBR) OBELER ¢ =
A BT 92.000
OB 1m0 44.000
R UTE @ 42.000
AUk FCE @ 6.000
KA BEC @ 50.000
BIXE AAE @ 19.000
EIERES 16.000
\LE KED @ 535.000
ME #2201 44,000
BEDE 465.000 A 350 Ch 31.000 465.000 54.000 519.000
A& 33kO @ 7.000
&H &k 1.000
KB IB 4.000
EEF 33 @ 2.000
VA @ 0.000
KEF it 1.000
=E hs 0.000
Bl (F3E @ 8.000
Nk 5,738.000 A (Eak FEad (i) 144.791 5,738.000 288.124 6,026.124
TR VK @ 44.000



k& BHREOSERE
7 (FERZRO) <

hE

LEEHES

uTE

HE B

[

KZTEB

Mo g

1EH
Bia
=)
thik

IKE

NHK% 369.000 A EM
&K

J11

BREOEFEMRE LBE8HE (IFEre ROORUHETE

BEHRE (A)

U250

IREB

%

RF

&S

-
=]

EEA

EZS

3Rk

IEX

IEHY

N

H

>

hoe

3

(FERZZD0) IR DEFMHER F (B)
61,926.995 53,227.999 8,698.996 0.005

® e

®0 6

®O 6

AINDOKRECEE
SRVEE (C)

LEEHE (FER
ZE20) OISR
18.000

9.000

23.000

14.000

1.000

0.000

5.000

12.000

4.000

7.000

2.000

0.000

1.333

0.000

3.000

363.000

9.000

3.000

BaigEEr (D)
(A+B+C)

61,927

BHEFOSERI LEEHE (FEn
IFERZED) < ZBR<) @

HIIRFIR

(E)

1,161

369.000

SEHER (F)

(D+E)

63,088

SREH <

375.000

FIRDZ DAl
(G)

&t

744.000

HEEIR

(F+G)

63,090



